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NO | mummea| JA%SE 1 Bl 35 E i 29k #-E A%
1 9:00 840 AKAT |FFEKREF4x100mR i 2#A°Zk8 | 15
2 9:10 8:50|BEFT |HFRFEF4x100mR FiE 2#~AAF8 | 15
8 9:20 232 BE&ER  |[/NEREF100m ;'2'3'4 E1L—X |6fHAAME | 49
9 9:40 9:20|1B&ERT  |/NERKBF100m 1.2.345 |E1L—Z |58AAM6 | 39

9:35 1.2.34
10 9:55 945\ B&EFT  |FEXF100m 56.7.8 |FE1L—X [11#AAAM6 | 93
9:55 9.10.11

10:10 1.2.34
11 10:30 10:20| 1BE&FR |FZFBEF100m 5678 |Z1L—x| 1048~ AM6| 88

10:30 9.10
6 11:10 10:50| 24—t s ZF100mH E1L—Z| 240A'AM6 | 16
7 11:20 11:00{24—Fith ;[ 55F110mH FE1L—X | 3fA~AME | 18
12 11:40 11:20 A9—MiR[ZF100m 1234 FE1L—X| 648~AM6 | 48

11:30 5.6

11:50 1.2.34
13 12:10 12:00 A4—hith 5| BB F100m 0678 EIL—X (1448~ AM6 | 113

12:10 9.10.11.12

12:20 13.14
14 HERR (FP—ARFE - XY -BEXEBEBFLE)
15 13:30 13:10{R4—ith F[ & F100mH EoL—2 (248 16
16 13:40 13:20| 24—t || 5B F110mH EoL—2Z | 248 16
17 13:55 13:35|#8&FfT  [/MEKZF100m oL —2R | 248 16
18 14:05 13451 8&%FfT  [/MERBF100m EoL—2Z | 248 16
19 14:15 13:55|1B&FT  |FFEKREXF100m oL —2R | 248 16
20 14:25 14051 8&%FfT  |[FERBF100m EoL—2Z | 248 16
21 14:35 14:15|24—ith ;[ ZF100m EoL—2 (248 16
22 14:50 14:30| 25—hith ;[ 5B3F100m EoL—X (248 16
23 15:10 14:50|#B&FT  [/MEREXF4 X 100mR R 7
24 15:20 15:00[8%FfT  [/MERFBEF4x100mR R 6
25 15:30 15:10[8&KFT  [PEEEZF4X100mR R 8
26 15:35 15:15 8% [FERKEF4Xx100mR R 8
27 15:40 15:20(#85&FT [&F4 x100mR R 6
28 15:45 15:25|1B&FT  [$BF4 % 100mR R 9
29 INBERRBRRER




